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General Instructions :

1. The question paper consists of four sections - A, B, C and D. Section - A consists of 4
questions of 1 mark each; Section - B consists of 6 questions of 2 marks each; Section -
C consists of 10 questions of 3 marks each and Section - D consists of 11 questions of 4
marks each.

2. All questions are compulsory.

3. In questions of construction, the drawing should be neat and clean and exactly as per the
given measurements. Use ruler and compass only.

4. There is no overall choice. However, internal choices have been given in some

questions.
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SECTION - 'A' (@3-‘31")

Write the degree of polynomial (x* + 1)(x + 2). 1
FEUT (x2 + 1)(x + 2) ki = felfEg)

1
Simplify (5°+6°+7°+8" ) 1

WA hifsy (5°+6°+7°+8°);
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10.

11.

Name the geometrical shape which has unlimited lines of symmetry.

39 AT sepfa w1 99 warey, frad srefifaa Yensti =1 gwfafa 2

In the word 'MATHS' which letter shows rotational symmetry of order 2 ?

fU T T MATHS & -9 31eR o Fufafa &1 o w9 2 39 22
SECTION - 'B' (@38-‘®")
' 1 -5 1 7 1 2x-1
Find x so that l:(gJ X(Ej =(§j }
1 =5 1 7 1 2x-1
T e, A KEJ () -[2) }
Evaluate : (0,01024)%
I T FIA : (0.01024)

Divide 24/2x* + 6+/2x° + x* by 242
22x + 6325 + X Eal 23252 T 9 I

Using factor method, divide the polynomial (y* - y - 42) by (y - 7).
ToAEE fafY 1 TR wh S8R (2 -y - 42) R (y-7) @ 9 i)

The sum of two positive integers is 120. The integers are in the ratio 2 : 3. Find

the integers.
T TH IR H AN 120 T I YUNR B SAM 2 : 3 ¥ ik ¥
TS

Write the order and angle of rotational symmetry of equilateral triangle.

grarg s 1 oA afafa w9 iR goia gufafa o fafew)
SECTION - 'C' (@g-|")

Rehana received a sum of Rs. 40,000 as a loan from a finance company at the
rate of 7% p.a. Find the compound interest paid by Rehana after 2 years.

@A 1 T o A F 40,000 T H FS 7% AMivish =4S L H e
I SIY foh & A | BT SR foha 1 =hafsg = fean smam?
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12.

13.

14.

15.

16.

17.

1

1 1) |4
Evaluate : 7(643 n 273]
JyT
HH FG RIS 7(643 +273]
Using long division method, show that x+2 is a factor of x* + 8.

Al rT fafer &1 gEn wi, DR F 1+2, o + 8 H OHEE 2

Solve the following equation and verify your answer.

fea T Wil B HIFT SR S0 ST R GATTd it -

2-Tx 3+7x
1-5x 4+5x

The sum of the digits of a two digit number is 10. The number obtained by
interchanging the digits exceeds the original number by 36. Find the original
number.

T 3l wt G H AR HT AN 10 B AR & WX Yo W I & qA
T W 36 9 S ¢ gol G&A 1w

OR ( 314T )

One fifth of a number increased by 5 is equal to 4 less than one fourth of

that number. Find the number.
T GEA & UiEd 9N H 5 ! ghg S W 9N GEA 59 el & Uk =i
9 4 FH 3| §EA TG HiSU

The diagonals of rhombus are 12 cm and 16 cm. Find the length of each side

of rhombus.

T gHEgHs ® fawel 12 S SR 16 W € wHegde w1 uAE oS #
eSS

Two adjacent angles of a parallelogram are (5x + 65)° and (85 -2x)°. Find
the measure of each angle of a parallelogram.

fopelt TiaR =S & < ST BT (5x + 65)° S (85 —2x)0 Bl THIR g
% G HIOT & AY A RIS
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18.

19.

20.

21.

22.

Construct a quadrillateral PORS in which PQ =3 cm, QR = 4 cm, RS = 3.5 cm,
SP =4 cm and diagonal PR =5 cm.

Teh 9q8sl PORS i AT witeid €9 PQ =3 cm, OR = 4 cm, RS = 3.5 cm,
SP=4cm3:ﬁ'{ PR =5 cm faant %\I

Alternate question for visually challenged students in lieu of Q. No. 18
UH. 18 WM W ghe snfua faenfsai & fau denfeas wo
Evaluate : (I' +2°+3°+4° )27 .

CIEEE G IS L (13 +2°+3° +43)7

The daily wages of 18 workers in a factory are the following :

200, 250, 300, 150, 400, 350, 200, 250, 300, 150, 300, 400, 200, 250, 300, 350, 200, 250
Prepare a fequency distribution table and find the range of wages

Th Bt § el o1 e s frefafed @ -

200, 250, 300, 150, 400, 350, 200, 250, 300, 150, 300, 400, 200, 250, 300, 350, 200, 250
TS AERAT GROT SR SR 9N R | [ i

An integer is chosen at random from the first 50 positive integers. What is

the probability that the chosen integer is divisible by 5.

T Yuifeh Tt 50 SF-YUienl ® @ AIge3a1 1 T 1 THH! Aiehal 1 §
foh o1 g3 QUi 5 & AT & Tehal @72

SECTION -'D' (@8-‘T’)

Find the value of x, if 2(3* - 3*') = 324.
x T hIfST, I 2(3+ - 3+1) = 324

The simple interest on a certain sum of money for 3 years at 5% p.a. is Rs. 540.
What will be compound interest on that sum at the same rate for the same
period?
Fs Mivad I | 3 9« ° 5% Ui &l W W AERO A 540 T
g1 SH U W, SH W ¥ R Sa € & fau fea wwdfs oA
frerm?
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23.

24.

25.

26.

The annual rate of growth in population of a certain city is 8%. If its present

population is 196830. What was population 3 years ago?

fhdl TTeR a1 i SdE gfg T 8% 71 A% IdHM TGS 196830 ©
@ I I Uee SEE F1 WOs?

OR ( 319 )

At what rate percent will a sum of Rs. 3750 amount to Rs. 4374 in 2 years, If
the interest is compounded annually?

forg aftier =191 <X 9 3750 ®©IQ i ART 2 o | 4374 ®IC & S, Sefeh
=TS it G BT 2

The difference between the compound interest and the simple interest on a
certain sum of money at 15% p.a. for 3 years is Rs. 283.50. Find the sum.
fordt Tl 1 15% a1fties W 9 3 99 & folw Ihgfg = qen GIEmRol &
F1 3T 283.50 W T, AR T FifS

Divide 22x+8x*-6x?+15 by 1+4x. Write quotient and remainder. Verify your

answer.

22 +8:3-6x2+15 ! 1+4x T YN HISW| TTHA dq % fafeu) 3199 I

T TAGA 9t Hifey|

Priya's father decided to distribute apples among patients of a hospital on her
birthday. He brought 963 apples to distribute to the patients. The male patients
are more than two times female patients and children are two times female
patients in hospital. Each patient will get only one apple.

(i) How many apples female patients will get?

(i) What value is depicted by the father's act of distributing the apples?

e & fuarst 3 foen & SHafed Wt orouda § 99 |t @ fve fwan
I8 963 U AOST H st & fou @ gew wie dfeen WSt @ I 9
3 S € IR wee ufgen wlSi © < €, Goke WS i Uk 9e figen|
(i) afgen wdsi =t foham g9 faei?

(i) 9 e ¥ Tt & ®F 9 e ged Feihd &7
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27. A pair of adjacent sides of a rectangle is in the ratio of 5: 12. If the length of the
diagonal is 26 cm. Find the lengths of sides and perimeter of the rectangle.
Teh 3T ! SEA qoNeli & Th 0§ 5 : 12 &l YA 2| afS S
fasrol 26 QM. € dF oA T g w W AR YA A Hifey)

28. ABCD is a rectangle in which DP

D C
and BQ are perpendiculars from
D and B respectively on diagonal >
AC. Show that :
(i) AADP=ACBQ >
(i) ZADP=ZCBQ A .

(i) DP=BQ

ABCD T& 3T9d & o fashol AC W D @it BE %H9: & DP 3R BQ
e T ¥ g9z

(i) AADP=ACBQ

(i) ZADP=~/CBQ

(iii) DP=BQ

29. Using ruler and compass, construct a quadrilateral ABCD in which
AB=CD=5cm, BC=4.5cm, B=60, C=120. Which type of quadrilateral is this?
P R WHR B WAM B uqHS ABCD &I TN whifew  fored
AB=CD=5cm, BC=45cm, B=60,C =120 2| 78 fd THR H EGkiS| 2?2

Alternate question for visually challenged students in lieu of Q. No. 29
UH. 29% WM W ghe sfua faenfofa & fau denfeas wom
A money box contains one rupee and 2 rupee coins in ratio 3 : 5. If the total

value of coins in the money box is Rs. 78, find the number of one rupee coins.
T Tooish | Toh €00 3R 2 393 & faeh 3 @ 5 & o o @1 9 Tooish o
R faehi &1 AF 78 T ¥, SUH UH T9F & i i G A Sty
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30.

31.

A card is drawn from a well shuffled deck of cards, find the probability that
the card drawn is

(i) ablack9

(ii) aking of spade

(iii) anace

(iv) a diamond

52 Ul I d® R TES! H W Wk Ul AGoSAT Rl S
2, UifdeRdr 9d sife for fepren T g 7

(i) TH BT

(i) Weh gRHH <hl dISRE
(iii) Weh Sokhl

(iv) Tk 32

A box contains 24 marbles of different colours. The following table shows

number of marbles of these different colours. Draw a pie chart for the data.

Colour of marble Red Green | Yellow Blue
No. of marbles 5 3 6 10
T g ¥ 24 fafa= @1 & ger 2, frefafed groft § fafy= o & gert
T HEem & T ¥ T TH g foad ¥ @ -
TR T I e By dren | ren
eI 1 HEA 5 3 6 10
OR ( 314T )

The following is the distribution of weights (in kg) of 50 persons.

Weight (in kg) | 50-55 | 55-60 | 60-65 | 65-70 | 70-75 | 75-80 | 80-85 | 85-90
No. of persons 8 5 12 4 5 7 6 3

Draw the histogram.

(i) How many persons have weight more than 80 Kg?

(ii) In which group, maximum no. of persons exit?
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freferfea aifere § 50 @ & 9R (feemg §) &3 g -

g (feam. o)

50-55

55-60

60-65

65-70

70-75

75-80

80-85

85-90

AN ohl HE&AT

8

5

12

4

5

7

6

T 3d a3 99T

() Tome < w1 9R 80 fRum W U @2

(i) frg o9 o s @ ©?

Alternate question for visually challenged students in lieu of Q. No. 31

UH, 315 WM W g arfua faenfdar & fau denfeus wom

Divide 3x(5x*+3x°+2) - (2x*+8-x) by (-2+3x). Write quotient and remainder.

3x(5x2+3x3+2) - (2x2+8-x) Tl (-2+3x) ¥ N HIfSU| AFTHA o IR fArET|
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